
U5D8  MCR3UI   Proving Trigonometric Identities (Continued)   Warm Up: QUIZ 
 
Recall:  QI:             PI: 
 
 

Today, include:  Reciprocal Identities (RI):   

co-secant:  𝑐𝑠𝑐𝜃 = 
1

𝑠𝑖𝑛𝜃
  secant:  𝑠𝑒𝑐𝜃 = 

1

𝑐𝑜𝑠𝜃
  co-tangent:   𝑐𝑜𝑡𝜃 = 

1

𝑡𝑎𝑛𝜃
 

 

 
Example 1)  Prove. 

a) 1 − 𝑠𝑖𝑛2𝜃 = 𝑠𝑖𝑛𝜃𝑐𝑜𝑠𝜃𝑐𝑜𝑡𝜃 b)  1 + 𝑡𝑎𝑛2𝜃 = 𝑠𝑒𝑐2𝜃  c) 𝑡𝑎𝑛𝜃 + 𝑐𝑜𝑡𝜃 = 
𝑠𝑒𝑐𝜃

𝑠𝑖𝑛𝜃
 

 
 
 
 
 
 
 
 
 
 
U5D8   Worksheet:  Trigonometric Identities      

Prove each identity.
1. sin 𝜃 =  cos 𝜃 tan 𝜃 

2. csc 𝜃 =  sec 𝜃 cot 𝜃 

3. cos 𝜃 =  sin 𝜃 cot 𝜃 

4. sec 𝜃 =  csc 𝜃 tan 𝜃 

5. 1 +  csc 𝐴 =  csc 𝐴 (1 +  sin 𝐴) 

6. cot 𝐵 sin 𝐵 sec 𝐵 =  1 

7. cos 𝐶 (sec 𝐶 –  1)  =  1 –  cos 𝐶 

8. 1 +  sin 𝐷 =  sin 𝐷 (1 +  csc 𝐷) 

9. 1 – sin2 𝜃 =  sin 𝜃 cos 𝜃 cot 𝜃 

10. csc2 𝜃 =  cot2 𝜃  +  1 
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13. csc2 𝜃 cos2 𝜃  =  csc2 𝜃 –  1  
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